07 01 06

G

650 | 650 | o | o | 0

100

R7

100

R11

100




RO7 |R08 [R09 [R10 [R11

A12-001 [ B BN B B 644
A12-002 [ I | 6
N 650 |

650 |




(BR07) FEhifE T (FER B AR ER S 2T 48)

FHl D4 B EHRAEH O E L Ze - RO T AROEER B55% - 24)
i o HE BRITEE  ~ SFIEE  (GFR) eI L T

Uz%mﬂmﬁ e fhX
820E ‘

&

MZEW? EHNE

e e aon AEBRESSILNELEEE (ERORE FH)
ysk ~Epw ] LD | A12-002 AEIEER RFEREETEIRE
W BERE a1 i







oS B DPATRIL

(B E5HAH)

R7

R8

R9

R10

R11

Y 7]
(a)

FFIB
VAN
(b)

EATHE
(c=a+b)

AR 7> B DL BIAR
(d)

XN &
(e)

AR
(f)

5%*%@@@@
g

ENGEES
(h = c+d-e-f)

R+ A =
(h = (gth)/(c+d))

ALK+ TRHER10% E B2 T D

A% OHEA

S B RNTAEE DLE 0D 25 A2 0D TR BB 2 20 ks



